44 When started, n ammadilowil leap upwward. Suppose it rises 0.344 m in the first 0.200 5. (2] What s ts inifial speed as it leaves the ground? (b) Whatis s speed at the height of 0.544 m? (c] How

much higher does it go? o
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10 () With what speed must a ball be thrown vertically from ground level to rise to a maximum height of 50 m? (b) How long will it be in the air? (c) Sketch graphs of y,v, and a versus tfor the ball
(On the first two graphs, indicate the time at which 50 m is reached.
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10 Raindrops fall 1700 m from a cloud to the ground. (a) If they were not slowed by air resistance, how fast would the drops be moving when they struck the ground? (b) Would it be safe to walk outside
during a rainstorm?
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47 B Ata construction site a pipe wrench struck the ground with a speed of 24 m/s. (a) From what height was it inadvertently dropped? (b) How long was it falling? (c) Sketch graphs of y, v, and a
versus t for the wrench. s
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48 B A hoodhum throws  stone vertically downvward with an initial speed of 12.0 m/s from the roof of a building, 30.0 m above the ground. (a) How long does it take the stone to reach the ground? (b) What
Is the speed of the stone at impact?
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49 BEI A hot-air balloon s ascending at the rate of 12 m/s and is 80 m above the ground when a package is dropped over the side. (a) How long does the package take to reach the ground? (b) With what
spead does it hit the ground?
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